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Mock Test 10

Many of areas with “high ranges of tides” aredcated in the areas of Alaska, Canada, and northern

Europe. Which of the following can be peculiar reasn(s) for the same?

1. They are all located at higher latitudes.

2. The “constriction” of the oceans due to landsdistribution in the Northern hemisphere causgls h
tides.

3. Heavy storm waters coincide with major tidadms.

Select the correct answer using the codes below.

A. 1 and 3 only B. 2 only C.land 2 only D. lard 3

Atal Ranking of Institutions on Innovation Achievements (ARIIA) will primarily focus on which of

the following parameters for ranking?

1. Budget Expenses and Revenue generated thhongbation and entrepreneurship development

2. Facilitating access to advance centres / fasland entrepreneurial support system

3. International networking and partnershipsedited to promote entrepreneurship

Select the correct answer using the codes below.

A. 1 only B. 2 and 3 only C. 1land 3 only D. 1 &dnly

Consider the following features of a river cowse.

1. Smaller tributaries flowing over gentle gradéeen 2. Streams meander freely forming ox-bow lakes

3. Sharper turns are not found frequently.

The above refer to which stage of a river?

A. Youth stage B. Old stage

C. Mature Stage D. Either Youth stage or Matusg&t

Consider the following statements about the SttuAsian Free Trade Area (SAFTA) agreement.

1. The SAFTA Ministerial Council (SMC) has beesiablished comprising the Commerce Ministers of
the Member States.

2. The SAFTA Agreement states that the SMC shalt at least once every year.

Which of the above is/are correct?

A. 1 only B. 2 only C.Both 1 and 2 D. None

On a World Map, a straight line joining New Dehi to Tashkent will NOT pass through which of these

countries?

A. Pakistan B. China C. Afghanistan D. Uzbekistan

Which of these constitutional provision(s) ainat protecting the linguistic interests of minorities in the

States?

1. President can direct the government to proem®pulsory financial grants and reservation inligub
jobs to such minorities.

2. President can direct the official recognitadra minority language in the state.

Which of the above is/are correct?

A. 1 only B. 2 only C.Both 1 and 2 D. None

Consider the following about Heat Waves.

1. Climate change is leading to increased frequand intensity of heat waves.

2. InIndia, it is most commonly experienced iorth-Western regions.

3. As per NDMA guidelines, when local temperatiseconstantly above forty degrees Celsius, heat
waves must be declared by local authorities.

Select the correct answer using the codes below.

A. 1 and 2 only B. 3 only C. 2 and 3 only D. 1ard 3

Intellectual Property Rights (IPR) includes

A. Patents and trademarks only

B. Trademarks, patents, geographical indicatiomsiadustrial designs

C. Innovation copyrights and plant variety proi@cionly

D. Circuit Designs, copyrights and industrial desi only

With reference to National Student Startup Poby (NSSP), consider the following statements.

1. The AICTE has been drafted this policy to iasethe number of “Student Startups” and prepama th
to gain the benefits from “Start-up India” prograsnm

2. It aims to create 100,000 students owned t#obw start-ups and a million new employment
opportunities by 2025 or within the next 10 years.

3. According to the policy, the curriculum pattefiollowed by academic institutions registered with
AICTE would include 40 per cent skills based cosys20 per cent knowledge related courses and 30
per cent attitude related courses.

Select the correct answer using the codes below.

A. 1 only B. 1 and 2 only C.1,2and 3 D. 2 anoh®/



